Soluzioni [ A ]
1. 
π/2  ,  3 π/2

2.
M = L = log ( e3 – 1 )  ;  m non esiste , l = -∞

3.
( i ) x0 
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4.
y ( x ) = e-x ( A cos 2x + B sen 2x ) + ex ( sen 2x – 2 cos 2x ) / 20
5.
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6.
[ - 11/10 , +∞ )


Soluzioni [ B ]

1. 
[ 0 , 2 π ]  -  
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2.
M = L = log ( e2 – 1 )  ;  m non esiste , l = -∞

3.
( i ) x0 
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4.
y ( x ) = e-x ( A cos 2x + B sen 2x ) + ex ( cos 2x + 2 sen 2x ) / 20
5.
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6.
[ -1 , +∞ )
Soluzioni [ C ]

1. 
π/2  ,  3 π/2

2.
M = L = 3e  ;  m non esiste , l = 0

3.
( i ) x0 
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 A  :  f ( x0 ) = M
       ( ii )  
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4.
y ( x ) = e-2x ( A cosx + B senx ) + e2x ( 2 senx - cosx ) / 40
5.
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6.
( -∞ , ¼ ]


Soluzioni [ D ]

1. 
[ 0 , 2 π ]  -  
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2.
M = L = 2e  ;  m non esiste , l = 0

3.
( i ) x0 
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 A  :  f ( x0 ) = m
       ( ii )  
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4.
y ( x ) = e-x ( A cos 2x + B sen 2x ) + ex ( 2 cosx + senx ) / 40
5.

[image: image14.wmf]c

 

  

 

3

1

 

x 

 

 

arctg

 

3

2

 

 

)

 

10

 

 x 

2

 

 

 x

(

 

log

 

2

1

2

+

÷

ø

ö

ç

è

æ

+

-

+

+


6.
[ - ¾ , +∞ )
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